Comba

keeps you connected

Articulating Antenna Mounting bracket

MT-ND-AR
Articulating Bracket Mount for IWH-O80VO8NZ/IWH-080V082-Q

Installation Instruction

1. Bracket- Ais preinstalled on the backside of the antenna.
Please take the bracket-A out from the backside of the antenna.
2. Assembly the bracket-B to same location of the backside of
the antenna with 4xM3 screws as shown in the picture
3. Install the articulating mounting kit on the backside of the antenna
with 4 sets of M5 nut, the plain washer and the spring washer as shown in

the picture
4. Drill holes (%" or 6mm diameter) in the wall at least deeper than the length
of the expansion bolt
5. Put the expansion bolt into the hole on the wall and then tighten the nuts of
The expansion bolt with wrench. The bolt goes outside while the metal sheath
does not move
Adjust the antenna direction and then tighten the nut after completion of installation

o

Unit: inches [mm]

4 N\ y
@) Ol s =
8| £
e
Bracket A (@) Ol 3| 3
y
\_ @ @ W, A
| 1.42[36.0]
P 2.69 [68.3] R
P 6.73 [171.0] N
4,37 [111.0] N
7'y f m
5 | 0.26 [6.5] x
N
o, | |
& W
o S 5y
g 8
H — H N
k ‘
. (D) ]
A 4 Y "/ Ly v
@ 3.56 [90.5] / € 2.28 [58.0] - 6.40 [162.5]
@ 2.0 [51.0] < >
@ 0.98 [25.0]
Ds-Control Comba Telecom Inc. 568 Gibraltar Drive, Milpitas, CA 95035. http://www.combausa.com/ Page 1 of 2
1-0-0/ 1221 Tel: +1 866 802 7961, combausa@comba-telecom.com, Fax: +1 408 526 0181

Information contained in this document is subject to confirmation at time of ordering. Specifications may differ depending on region and customers’ requirements


http://www.combausa.com/
mailto:combausa@comba-telecom.com

Bracket A
(pre-installed)

Step 1

Adjustment bolts for
vertical and

horizontal angle

Step 4, 5 and 6

Expansion Bolts (4pcs)
M6x60mm (74" x 2-3/8")

\

0= O

keeps you connected

Plain Spring
washer washer
M5 Nut
< Qo
< 0o
O
Step 3

Item Parts QTY | Material

1 Bracket B 1 Aluminum 3003

2 Mounting Screw M3 4 Stainless steel 304
3 Nut M5 4 Stainless steel 304
4 Spring Washer 4 Stainless steel 304
5 Flat Washer 4 Stainless steel 304
6 Expansion Bolt M6 4 Stainless steel 304

'135(;%‘;“;;?1 Comba Telecom Inc. 568 Gibraltar Drive, Milpitas, CA 95035. http://www.combausa.com/ Page 2 of 2

Tel: +1 866 802 7961, combausa@comba-telecom.com, Fax: +1 408 526 0181

Information contained in this document is subject to confirmation at time of ordering. Specifications may differ depending on region and customers’ requirements



http://www.combausa.com/
mailto:combausa@comba-telecom.com

